Gos Problemns - \est Qe\llﬁw
O PV 2 DoV T s M aomE) L (U ABabw) Vo
i 7 § 4 (285 K) 30DK
‘/l‘JlrM;L - V_:\
2) P\=nRT 45000, | ol COx = |, 0104 o
Y0l o
PLL1ugL) = (olodmel )(.0921) (295K )
IP_= LsTatw)
l.Slod_Nn 7(110*0(1“-. 119 O4upr
_ : | ochon
DI (150¥Pa ) (hom) = Py (looml)
L30.kPa =@
W Vi - Vi 3.5X0°L = \a Vo= 2,6 x10°\)
1y Ta 213K 203K
5) -P\ _ P (L8O Tore = 20.Tore | |13z 234K/
i A Makpc<.F) T, = i
204k=215=[11°C
4505 7L t = §

Lﬂ‘ 03HB + SOh > SQO). T L‘HLO STP
Us:0aCaHe 1Mol - 102 o) (3Hg '3 Mol CO, 3.0lmeiCo,
Hd ) gy lmmCsHPs

3.0bmol = Jmol . |X= LBSL |
X 2240 i ]




12505

| "l\ QBH&, Y S50y — 3632% ¥ L“‘h.,o S
S |l‘$0\ th\g Lol QBH% oy ‘?)Smo\QsH'b\ 3mol 00, - 844
Y ilg |lmo1 CaHg Iggl
(hobal ST s PU=oRT )
PV=nR1 | B
(202.4 KPa,)v - (B49met) (B 314) bosk\
|0L,Q ol ;
%\ Tokes - Lmﬁ\ﬁ_ or W&‘-&___ B AT
(Todeqyo | ) i (V) [ o) ialkd & |V MM/
- > - X X=A.19]
J 28024 29014
quermass o fop - sives Y| prede of eqosrm \
1A 0.\ DW = Po] 2P W o ol

75'00\1\!\\-(0. = PD {9, ZO‘ImmH«)

lN\mm?& = P‘o\

(A150hw

b) DV nRT ("”hyp)( NSL\ n (oem)(z%ak\

.Ql\:) nol OL ;

10

L )6) 4= o G0ake) <[1.259 ]

NOy ff_)

RT (.0B21) (Bolk\




’ ) d = (mn)e?) 37149 = (M) Uahw)
| R T (o8e1) (2730

o (stheEmm])

\)J_Tﬁe_q(x\\ have he same K.E. (4ame 1r\:mp\

o 13) TY)@,_.J_Qﬁ Massive Molecule will Nave H\«_

S _O}teq\es’r veloaidy . CHy
W) rake, o
e e mkb

(Y\(Y\b-.ra:\eso}_?j T08%
Mwa  Todegy o LhoT ol

ke =.s557
2 $ | 50, Sfuses SISTY as Fastas N

L R (it s heayeer )

ok gy, J TweolTmel . rok = 1,939

H%g__ffsof  NH3 offyses = 2X Yasker
o than 304 (s gl )

os) vabey, | ge 0%y TOR = 20LS
NONSENRUIRS - T | S AT ST S
R _F& i LHX)_V hv_mi  Heltuwn diffuse 2.u5x Fasker
o Yhaa Ny vecause s lighler,




lu\ FOAQ;J WV Wx

MM o,
2.00 = X
\j 32 00 ¥/mol
o >
(2w) = X
- 32 .00 3mol

—

/
[ 129%mpl = X/
L \—/




